Normalising constant

f(X1:6|)/1:3) = Cglz(Xl,X2)g245(X27X4,X5)g235(X2,X37X5)g36(X3,Xe)



Normalising constant
f(X1:6|)/1:3) = Cglz(Xl,X2)g245(X27X4,X5)g235(X2,X37X5)g36(X3,Xe)

f(x26ly13) =



Normalising constant
f(X1:6|)/1:3) = Cglz(Xl,X2)g245(X27X4,X5)g235(X27X37X5)g36(X3,Xe)

f(x26ly13) = ¢ [Z g12(X17X2)] 8245(X2, Xa, X5) 8235 (X2, X3, X5)g36(X3, X6)

X1



Normalising constant
f(X1:6|)/1:3) = Cglz(Xl,X2)g245(X27X4,X5)g235(X27X37X5)g36(X3,Xe)

f(x26ly13) = ¢ [Z g12(X17X2)] 8245(X2, Xa, X5) 8235 (X2, X3, X5)g36(X3, X6)

X1

Chz(Xz)g245(X2, X4, Xs)g235(X27 X3, XS)g36(X37 X6)



Normalising constant
f(X1:6|)/1:3) = Cglz(Xl,X2)g245(X27X4,X5)g235(X27X37X5)g36(X3,Xe)

feslyis) = ¢ [Z g12(X17X2)] 8245(x2, xa, X5)8235(X2, X3, X5) 836 (X3, X6)

X1
= Chz(Xz)g245(X2, X4, Xs)g235(X27 X3, XS)g36(X37 X6)

= CBus(x2, Xa, X5)8235(x2, X3, X5)836(X3, X6



Normalising constant
f(X1:6|)/1:3) = Cglz(Xl,X2)g245(X27X4,X5)g235(X27X37X5)g36(X3,Xe)

feslyis) = ¢ [Z g12(X17X2)] 8245(x2, xa, X5)8235(X2, X3, X5) 836 (X3, X6)

X1
Chz(Xz)g245(X2, X4, Xs)g235(X27 X3, XS)g36(X37 X6)

= CBus(x2, Xa, X5)8235(x2, X3, X5)836(X3, X6

f(xa:6ly1:3) ¢ [Z 8245(x2, Xa, x5) 8235 (X2, X37X5)] 836(x3, X6)

X2



Normalising constant
f(X1:6|)/1:3) = Cglz(Xl,X2)g245(X27X4,X5)g235(X27X37X5)g36(X3,Xe)

feslyis) = ¢ [Z g12(X17X2)] 8245(x2, xa, X5)8235(X2, X3, X5) 836 (X3, X6)

X1
Chz(Xz)g245(X2, X4, Xs)g235(X27 X3, XS)g36(X37 X6)
= CBus(x2, Xa, X5)8235(x2, X3, X5)836(X3, X6

f(xa:6ly1:3) ¢ [Z 8245(x2, Xa, x5) 8235 (X2, X37X5)] 836(x3, X6)

X2

= C§345(X37 X4, X5)g36(X37 X6)



Normalising constant

f(x16]y1:3)

f(x2:6]y1:3)

f(x3:6]y1:3)

f(X4:6|)/1:3)

Cglz(Xl, X2)g245(X27 Xa, X5)g235(X27 X3, X5)g36(X3, Xe)

c [Z g12(X17X2)] 8245(x2, xa, X5)8235(X2, X3, X5) 836 (X3, X6)

X1
Chz(Xz)g245(X2, X4, Xs)g235(X27 X3, XS)g36(X37 X6)

c8245(x2, Xa, X5)8235(X2, X3, X5) €36 (X3, X6)

¢ [Z 8245(x2, Xa, X5) 8235 (X2, X3, Xs)] 836(x3, X6)

X2
C§345(X37 X4, X5)g36(X37 X6)

c Z §345(X3, Xa, X5)g36(X37 X6)

X3



Normalising constant

f(x16]y1:3)

f(x2:6]y1:3)

f(x3:6]y1:3)

f(X4:6|)/1:3)

Cglz(Xl, X2)g245(X27 Xa, X5)g235(X27 X3, X5)g36(X3, Xe)

c [Z g12(X17X2)] 8245(x2, xa, X5)8235(X2, X3, X5) 836 (X3, X6)

X1
Chz(Xz)g245(X2, X4, Xs)g235(X27 X3, XS)g36(X37 X6)

c8245(x2, Xa, X5)8235(X2, X3, X5) €36 (X3, X6)

¢ [Z 8245(x2, Xa, X5) 8235 (X2, X3, Xs)] 836(x3, X6)

X2
C§345(X37 X4, X5)g36(X37 X6)

C25345(X3,X4,Xs)g36(X37X6) = C§456(X4,X5,X6)

X3



Normalising constant

f(x16]y1:3)

f(x2:6]y1:3)

f(x3:6]y1:3)

f(X4:6|)/1:3)

f(xs6|y1:3)

Cglz(Xl, X2)g245(X27 Xa, X5)g235(X27 X3, X5)g36(X3, Xe)

c [Z g12(X17X2)] 8245(x2, xa, X5)8235(X2, X3, X5) 836 (X3, X6)

X1
Chz(Xz)g245(X2, X4, Xs)g235(X27 X3, XS)g36(X37 X6)
c8245(x2, Xa, X5)8235(X2, X3, X5) €36 (X3, X6)

¢ [Z 8245(x2, Xa, X5) 8235 (X2, X3, Xs)] 836(x3, X6)

X2
c8345(3; Xa, X5) 836 (X3, X6)
c 25345(X3,X4, x5)836(X3, X6) = CBas6(x4, X5, X6)

X3

¢ Bass(xa, x5, %) = &s6(x5, %6)

Xa



Normalising constant

f(x16]y1:3)

f(x2:6]y1:3)

f(x3:6]y1:3)

f(X4:6|)/1:3)
f(xs6|y1:3)

f(xsly1:3)

Cglz(Xl, X2)g245(X27 Xa, X5)g235(X27 X3, X5)g36(X3, Xe)

c [Z g12(X17X2)] 8245(x2, xa, X5)8235(X2, X3, X5) 836 (X3, X6)

X1
Chz(Xz)g245(X2, X4, Xs)g235(X27 X3, XS)g36(X37 X6)
c8245(x2, Xa, X5)8235(X2, X3, X5) €36 (X3, X6)

¢ [Z 8245(x2, Xa, X5) 8235 (X2, X3, Xs)] 836(x3, X6)

X2
C§345(X37 X4, X5)g36(X37 X6)

C25345(X3,X4,Xs)g36(X37X6) = C§456(X4,X5,X6)

X3

¢ Bass(xa, x5, %) = &s6(x5, %6)

¢ ZES&(Xs,Xﬁ) = 86(%6)
X5



Normalising constant

f(x16]y1:3)

f(x2:6]y1:3)

f(x3:6]y1:3)

f(X4:6|)/1:3)
f(xs6|y1:3)

f(xsly1:3)

Cglz(Xl, X2)g245(X27 Xa, X5)g235(X27 X3, X5)g36(X3, Xe)

c [Z g12(X17X2)] 8245(x2, xa, X5)8235(X2, X3, X5) 836 (X3, X6)

X1
Chz(Xz)g245(X2, X4, Xs)g235(X27 X3, XS)g36(X37 X6)

c8245(x2, Xa, X5)8235(X2, X3, X5) €36 (X3, X6)

¢ [Z 8245(x2, Xa, X5) 8235 (X2, X3, Xs)] 836(x3, X6)

X2
cgzas(x3, Xa, x5)836(X3 X6)
c 25345(X3,X4, x5)836(X3, X6) = CBas6(x4, X5, X6)
X3
¢ Bass(xa, x5, %) = &s6(x5, %6)
Xa
¢ ZES&(Xs,Xﬁ) = 86(%6)
X5

¢ &) =c=1/) &)



Normalising constant (better alternative)

f(X1:6|}/1:3) = C-'glz(Xl7 Xz)g245(X2, Xa, X5)g235(X2, X3, X5)g36(X37 X6)



Normalising constant (better alternative)
f(xielyiz) = cgia(x1, x2)g2as(x2, Xa, X5)8235(x2, X3, X5) 836 (X3, X6)

f(x26ly13) =



Normalising constant (better alternative)
f(xielyiz) = cgia(x1, x2)g2as(x2, Xa, X5)8235(x2, X3, X5) 836 (X3, X6)

f(x26ly13) = C[Zgu(xl,xz)] 8245(X2, Xa, X5) 8235 (X2, X3, X5) 836 (X3, X6)

X1



Normalising constant (better alternative)

f(x1:6]y1:3)

f(x2:6]y1:3)

Cg12(X17 Xz)g245(X27 Xa, X5)g235(X2, X3, X5)g36(X37 X6)

X1

c [Z g2(x, Xz)] 8245(x2, Xa, X5) 8235 (X2, X3, X5) 836 (X3, X6)

cha(x2)g245 (X2, Xa, X5) €235 (X2, X3, X5 ) g36(X3, X6 )



Normalising constant (better alternative)
f(xielyiz) = cgia(x1, x2)g2as(x2, Xa, X5)8235(x2, X3, X5) 836 (X3, X6)

f(xa6ly1:3) = C[Zgu(xl,xz)] 8245(x2, Xa, X5) 8235 (X2, X3, X5) 836 (X3, X6)

X1
cha(x2)g245 (X2, Xa, X5) €235 (X2, X3, X5 ) g36(X3, X6 )

= cBus(x2, Xa, X5)g235(x2, X3, X5)&36(X3, X6



Normalising constant (better alternative)
f(xielyiz) = cgia(x1, x2)g2as(x2, Xa, X5)8235(x2, X3, X5) 836 (X3, X6)

f(xa6ly1:3) = C[Zgu(xhxz)] 8245(x2, Xa, X5) 8235 (X2, X3, X5) 836 (X3, X6)

X1
cha(x2)g245 (X2, Xa, X5) €235 (X2, X3, X5 ) g36(X3, X6 )

= cBus(x2, Xa, X5)g235(x2, X3, X5)&36(X3, X6

f(x2:3,5:6/y1:3) ¢ [Z 8245(%2, xa, X5)] 8235 (%2, X3, X5) 836 (X3, X6)

Xa



Normalising constant (better alternative)
f(xielyiz) = cgia(x1, x2)g2as(x2, Xa, X5)8235(x2, X3, X5) 836 (X3, X6)

f(x26ly13) = C[Zgu(xl,xz)] 8245(X2, Xa, X5) 8235 (X2, X3, X5) 836 (X3, X6)

X1
cha(x2)g245 (X2, Xa, X5) €235 (X2, X3, X5 ) g36(X3, X6 )
= cBus(x2, Xa, X5)g235(x2, X3, X5)&36(X3, X6

f(x2:3,5:6/y1:3) ¢ [Z 8245(%2, xa, X5)] 8235 (%2, X3, X5) 836 (X3, X6)

Xa

= chos(x2, X5)8235(x2, X3, X5)&36 (X3, X6)



Normalising constant (better alternative)
f(xielyiz) = cgia(x1, x2)g2as(x2, Xa, X5)8235(x2, X3, X5) 836 (X3, X6)

f(xa6ly1:3) = C[Zgu(xhxz)] 8245(x2, Xa, X5) 8235 (X2, X3, X5) 836 (X3, X6)

X1
cha(x2)g245 (X2, Xa, X5) €235 (X2, X3, X5 ) g36(X3, X6 )

= cBus(x2, Xa, X5)g235(x2, X3, X5)&36(X3, X6

f(x23s6ly13) = ¢ [Z §245(X2,X47X5)] 8235 (%2, X3, X5) 836 (X3, X6)

Xa
= chos(x2, X5)8235(x2, X3, X5)&36 (X3, X6)
= C§235(X2, X3, Xs)g36(X3, X6)



Normalising constant (better alternative)
f(xielyiz) = cgia(x1, x2)g2as(x2, Xa, X5)8235(x2, X3, X5) 836 (X3, X6)

f(x26ly13) = C[Zgu(xl,xz)] 8245(X2, Xa, X5) 8235 (X2, X3, X5) 836 (X3, X6)

X1
cha(x2)g245 (X2, Xa, X5) €235 (X2, X3, X5 ) g36(X3, X6 )

= cBus(x2, Xa, X5)g235(x2, X3, X5)&36(X3, X6

f(x23s6ly13) = ¢ [Z §245(X2,X47X5)] 8235 (%2, X3, X5) 836 (X3, X6)

Xa
= chos(x2, X5)8235(x2, X3, X5)&36 (X3, X6)

= C§235(X2, X3, Xs)g36(X3, X6)

f(xss6ly13) = C[Z§235(X2,X3,X5)] 836(x3, %)

X2



Normalising constant (better alternative)
f(xielyiz) = cgia(x1, x2)g2as(x2, Xa, X5)8235(x2, X3, X5) 836 (X3, X6)

f(xa6ly1:3) = C[Zgu(xhxz)] 8245(x2, Xa, X5) 8235 (X2, X3, X5) 836 (X3, X6)

X1
cha(x2)g245 (X2, Xa, X5) €235 (X2, X3, X5 ) g36(X3, X6 )

= cBus(x2, Xa, X5)g235(x2, X3, X5)&36(X3, X6

f(x23s6ly13) = ¢ [Z §245(X2,X47X5)] 8235 (%2, X3, X5) 836 (X3, X6)

Xa
= chos(x2, X5)8235(x2, X3, X5)&36 (X3, X6)

= C§235(X2, X3, Xs)g36(X3, X6)

f(xas6ly13) = ¢ [Z §235(X2,X3,X5)] 836(x3, %6) = c835(x3, x5)836 (X3, X6)

X2



Normalising constant (better alternative)
f(xielyiz) = cgia(x1, x2)g2as(x2, Xa, X5)8235(x2, X3, X5) 836 (X3, X6)

f(x26ly13) = C[Zgu(xl,xz)] 8245(X2, Xa, X5) 8235 (X2, X3, X5) 836 (X3, X6)

X1
cha(x2)g245 (X2, Xa, X5) €235 (X2, X3, X5 ) g36(X3, X6 )

= cBus(x2, Xa, X5)g235(x2, X3, X5)&36(X3, X6

f(x23s6ly13) = ¢ [Z §245(X2,X47X5)] 8235 (%2, X3, X5) 836 (X3, X6)

Xa
= chos(x2, X5)8235(x2, X3, X5)&36 (X3, X6)
= C§235(X2, X3, Xs)g36(X3, X6)

f(xas6ly13) = ¢ [Z §235(X2,X3,X5)] 836(x3, %6) = c835(x3, x5)836 (X3, X6)

X2

f(xs6ly1:3) = 6[2535(X3,X5)] 836(x3, X6)

X5



Normalising constant (better alternative)
f(xielyiz) = cgia(x1, x2)g2as(x2, Xa, X5)8235(x2, X3, X5) 836 (X3, X6)

f(xa6ly1:3) = C[Zgu(xhxz)] 8245(x2, Xa, X5) 8235 (X2, X3, X5) 836 (X3, X6)

X1
cha(x2)g245 (X2, Xa, X5) €235 (X2, X3, X5 ) g36(X3, X6 )

= cBus(x2, Xa, X5)g235(x2, X3, X5)&36(X3, X6

f(x23s6ly13) = ¢ [Z §245(X2,X47X5)] 8235 (%2, X3, X5) 836 (X3, X6)

Xa
= chos(x2, X5)8235(x2, X3, X5)&36 (X3, X6)
= C§235(X2, X3, Xs)g36(X3, X6)

f(xas6ly13) = ¢ [Z §235(X2,X3,X5)] 836(x3, %6) = c835(x3, x5)836 (X3, X6)

X2

f(X3,6|}/1;3) = C [Z §35(X3,X5)1 g36(X37X6) = Ch3(X3)g36(X37X6)

X5



Normalising constant (better alternative)

f(xiely13) =

f(x26ly13) =

f(x356ly13) =

f(xs56ly13) =

f(xz6ly1:3) =

Cg12(X17 Xz)g245(X27 Xa, X5)g235(X2, X3, X5)g36(X37 X6)

c [Z g2(x, Xz)] 8245(x2, Xa, X5) 8235 (X2, X3, X5) 836 (X3, X6)

X1
cha(x2)g245 (X2, Xa, X5) €235 (X2, X3, X5 ) g36(X3, X6 )

c82a5(X2, Xa, X5) 8235 (X2, X3, X5)g36 (X3, X6)

¢ [Z §245(X2,X47X5)] 8235(x2, X3, x5) 836 (X3 X6)

Xa
chas(x2, x5) 8235 (X2, X3, X5) 36 (X3, X6)
C§235(X2, X3, Xs)g36(X3, X6)

c [Z §235(X2,X3,X5)] 836(x3, X6) = c835(x3, X5)836(x3, X6)

X2

¢ [Z 535(X3,X5)1 836(x3,%6) = ch3(x3)g3s(x3, %6) = €836 (>

X5



Normalising constant (better alternative)
f(xielyiz) = cgia(x1, x2)g2as(x2, Xa, X5)8235(x2, X3, X5) 836 (X3, X6)

f(xa6ly1:3) = C[Zgu(xhxz)] 8245(x2, Xa, X5) 8235 (X2, X3, X5) 836 (X3, X6)

X1
cha(x2)g245 (X2, Xa, X5) €235 (X2, X3, X5 ) g36(X3, X6 )
= cBus(x2, Xa, X5)g235(x2, X3, X5)&36(X3, X6

f(x2:3,5:6/y1:3) ¢ [Z 8245(%2, xa, X5)] 8235 (%2, X3, X5) 836 (X3, X6)

Xa
= chos(x2, X5)8235(x2, X3, X5)&36 (X3, X6)

= C§235(X2, X3, Xs)g36(X3, X6)

f(xas6ly13) = ¢ Zgzas(xz,x&xs)] 836(x3, %6) = c835(x3, x5)836 (X3, X6)

X2

|
o

f(X3,6|}/1;3) ZE%(XB,,XS)] g36(X37X6) = Ch3(X3)g36(X37X6) = C§36(>

X5

flxely13) = ¢ ZEsa(X&Xe)-‘ = 86(x6)




Normalising constant (better alternative)
f(xielyiz) = cgia(x1, x2)g2as(x2, Xa, X5)8235(x2, X3, X5) 836 (X3, X6)

f(x26ly13) = C[Zgu(xl,xz)] 8245(X2, Xa, X5) 8235 (X2, X3, X5) 836 (X3, X6)

X1
cha(x2)g245 (X2, Xa, X5) €235 (X2, X3, X5 ) g36(X3, X6 )
= cBus(x2, Xa, X5)g235(x2, X3, X5)&36(X3, X6

f(x2:3,5:6/y1:3) ¢ [Z 8245(%2, xa, X5)] 8235 (%2, X3, X5) 836 (X3, X6)

Xa
= chos(x2, X5)8235(x2, X3, X5)&36 (X3, X6)

= C§235(X2, X3, Xs)g36(X3, X6)

f(xas6ly13) = ¢ Zgzas(xz,x&xs)] 836(x3, %6) = c835(x3, x5)836 (X3, X6)

X2

|
o

f(X3,6|}/1;3) ZE%(XB,,XS)] g36(X37X6) = Ch3(X3)g36(X37X6) = C§36(>

X5

flxely13) = ¢ 2536(X3,X6)-‘ = 8o(x6) = c = 1/Z§G(X6)




